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No. 1
NG | AE R4 [ £ & A | BE T R4 | IBAE (KB R | ¥ i A | E T R4
1 3,550 | & EIHT dtiEE 51 2,630| & R AT dtiEE
2 3,410 B HT =EHE 51 2,630(£> 1 LIFT A=
3 3,220| &K th 2R 53 2,607 |3 =T dtiEE
4 3,190 | ;T JtiEE 54 2,596 ]I dtiEE
4 3,190| L X&EH EEXRE 54 2,596|7 K BT allgE
6 3,135|1F&E T =EE 56 2,576| B ZF AT dtiEE
7 3,110|[E = HT dtiEE 57 2572|AELEHR EHE
8 3,096| ¥ 3RTH JtiEE 58 2,563\ %M aIE
9 3,091 | P ZE RN [AIH /K E 1 E [ JtiEE 59 2,552| $EE AT FEE
10 3,089| FH=HT JtiEE 60 2,550| AT dtiEE
11 3,059|1& EfT JtiEE 61 2534 = FH EFE
12 3,053| 5 LLIFT dtiEE 62 2,530 58T EHE
13 3,047 |4 ;a My EHE 62 2,530| K4ERET =EHERE
14 3,046| F & HT Eig2 62 2,530| 9 FEHT IR
15 3,029|;T ZHT JtiEE 62 2,530| 5 iR HET BREE
16 3,003 | ;7 HH BT 2 g 66 2,527 5IH JtiEE
17 3,000| ;8 & BT HEHE 67 2.515| ¥R AJNET EHE
18 2,981|EET =HE 68 2,508 | HTHT =EE
19 2,975 |2 gl (KREE/KEREE) | KRIRAF 68 2508|&EEEHT =EEER
20 2,970 | BRALLET JtiEE 70 2,503 | A 5| BT JtiEE
21 2,959 R LEGEREM EHE 71 2,502|EMBhH JtiEE
22 2,915|¥ARITET JtiEE 72 2,501 | & RIth JtiEE
23 2,893 &4 FI| ET JtiEE 73 2,497|iT:EH ERE
24 2,860| 1| G HT W 74 2492|m2m hFokEnEEsc2E] TER
24 2,860\ F E/T FIGE 75 2,490/ 24 FRHET JtiEE
26 2,850 | FI iR HT JtiEE 76 2,488/t B JtiEE
27 284 |AES LKESEM EHE 77 2,480| 3 B HT HEER
28 2,800| = FHR AT AR 78 2475 EE™H dtiEE
29 2,750| LI ST HT HEHE 78 2,475| X ET EHE
29 2,750 |fiEghh IR 78 2,475|E = )I|BT R
29 2,750|17 A TR 78 2475|F 2R EREBE
32 2,739|1R=EH JtiEE 82 2,473|;FZRH MEE
33 2,730| = He BT ZRE 83 2,464 | 8% A HT EFE
34 2,728 ;th FH AT JtiEE 84 2,460 X {EHT fahf 2
34 2,728 | BRI BT EHE 85 2,453 |8 BT EFE
36 2,723 |8+ ;R BT EHE 86 2,450|# AT dtiEE
37 2,709| R FR)IET EH5E 86 2,450|E Il BT JtiEE
38 2,684/|;3 HHET JtiEE 86 2,450| A [EH IR
39 2,680| B S HT JtiEE 89 2,449 |5 FEHT JtiEE
40 2679|=%h JtiEE 90 2,442|B5iETH FER
41 2667|—Fh =FE 91 2 440| FRFEH tiEE
42 2,657 |BzmhFokELEatxE] FTER 92 2,431 |5 IR
43 2,641 | K15t HT JtiEE 93 2,420 | FE& §F HT JtiEE
44 2,640| & BT =HE 93 2,420| 4B HT JtiEE
44 2,640|/\ ER ;S HT MEE 93 2,420|F)IH EHE
44 2,640/ K HH ALY 93 2,420|fERI S HTH B2FE
44 2,640|HE & AT AR 93 2,420]) || Iz HT =EHEHE
44 2,640|F REARIE 93 2,420|¥ S HT =S
49 2,637|FT At Pkl st 93 2,420 K4t =EHEHE
50 2,636| ST HT JtiEE 93 2,420|FE 5 TH IR




No. 2

AL KGER: F E 1L AT B4 | BN AEEHS & ¥ ® 4 HET R4
93 2,420( KT HT W R 151 2,300| Z= AT ] L2
93 2,420|#&J1ITH RIS 152 2,299|48 & =EEER
93 2,420 7] A BT IR 153 2,288| R 1%/KE > % [ JtiEE
93 2,420|ENFAaTH FER 153 2,288|2FGH EHE
93 2,420 | 15175 BT FEER 153 2,288|FgHEE T =EE
93 2,420|RFEH EEER 153 2,288 | A T =EEER
93 2,420|#0 3 H if=j=} 153 2,288|=th LER
93 2,420| 58 JL BT ERE 153 2,288 R&Eh REERE
93 2,420| ch & FHT EREE | 159 2,280 | s LI P ERKESER R
93 2,420| F1HHT EREE [ 159 2280/ AL (BNLE/KECER FIE
93 2,420 %04 BT BEREE 161 2,277 w4 Em (O FEKBREBES N E FEE

112 2,409 I [ BT AR 162 2272|E I Ik B 1R
112 2.409| K 2 =HT FEE 163 2,270 |8 3n] BT dtiEE
112 2,400 |FE3E FHT EREE | 164 2,268 | SR HiT AT fai 2
115 2,400|;=EFH =2F8 165 2,266 /1N 3R BT MEE
116 2,398tk KB XM KRR 165 2,266|/\[A/KEMSZEM FEE
116 2,398|F&E HEE 165 2,266| T T Z=BE
116 2,398| F B FHRBr#t KR AT 168 2,260| 5L 2 BT =EHERE

119 2,396| = EIR THT EZEE 169 2,255 ;R ZR AT JtiEE
120 2,390| %2 LT tiEE 169 2,255| )11 {= AT =EEER
121 2,380\ FFTH RIGE 169 2,255| L EE T KR
122 2,377|—F8h EFE 169 2,255| &5 ER AT Z=RE
123 2,376 | %5 HET EHE 169 2,255\ XA BREE
124 2,365| KR mARE 174 2,250/ 15 )11 BT BEE
124 2,365| & BT 2 g 174 2,250| A %> T fahf 2
126 2,360 #AHTH EIFE 176 2244| BF/KELEM JtiEE
127 2,354 IAE™ LER 176 2,244| KEETH MEE
128 2,350|BA B &+t =EBE& 178 22435k B EWE
129 2,346| FHET i) L1 IR 179 2240|822 & dtiEE
130 2,345| & T ERE 179 2,240[/\& fai 2
131 2,342|BAFTH =EER 181 2,233| £ R AT =2F8
132 2,341 | P ZE RN LK E 1 E [ tiEE 181 2,233[/\ & ;AT Ik B 1R
133 2,332 | B@ A EHE 183 2,228| EAATH MEE
133 2,332 lLUE FEE 184 2,223| BE EF AT LEER
133 2,332| P N HT BEREE | 185 2,210|3REH ZIWE
136 2,328| Bl 5 HT tiEE 186 2,205| =B LEER
137 2,325| BT dtiEE 187 2,200 (4% == HT dtiEE
138 2,323|FHE T EER 187 2,200 ;& Bl BT JtiEE
139 2,310| A H tiEE 187 2,200| 1= EE BT dtiEE
139 2,310 B AL BT A8 187 2,200( B8 T =2FE
139 2,310| 41 FH AT =2HE 187 2,200(_E LT W8
139 2.310| B F| AT MHE 187 2200 R AR EAESGEEEME] WWEE
139 2,310| B2 AT W R 187 2,200|FA=EHT =EEE
139 2,310| & e BT =EER 187 2,200 SR g 4 =EEER
139 2,310|/NEFHT =EE 187 2,200( = ZHT =EEE
139 2,310/ 1B tH TER 187 2,200{ Mg HMS56TH IR
139 2,310| FEH FEE 187 2,200 | £ %5 BT FEE
139 2,310| B FE AT FEE 187 2,200| 8 E 4 RHE
139 2,310 R R ILEKE R EM EER 187 2,200({d;E)IlTH Iz B2 12
139 2310 BESRLEBERES EEER 187 2,200| % B #T EER




No. 3
AL KGER: F E (LS 4 FEAT B4 BN AKEEHS & ¥ {4 4 HET R4

187 2,200 | = BE AT ZRE 239 2,090| = EHT Z=BE
187 2,200 | 5% FFET L2 239 2,090| AR K EC XM (BAEAR HTRIE
187 2,200 | B S ET i L R 239 2,090| £ GEHT ERE
187 2,200| B K EHT wWag 239 2,090|E L8
187 2,200| + FE AT FINE 239 2,090 | &R = AT =IFE
206 2,194|BBd5th tiEE 256 2,081 =& EER
207 2,190| 5% BT W E 257 2,080|MM#EEH FEE
208 2,189| 4& FHHT EHE 258 2,079|— = Hy =2FE
208 2,189|EBLLH EEE 258 2,079 ILR B LIBITEBAEE FTEE
210 21785 M i L IR 258 2079| KMEHT Z=RE
210 2,178| B FAKETEM wag 261 2,077 KIgH =S
210 2,178| )1 E T HiGE 262 2,073 | = & BT =EEER
213 2,171 | FZEEKAT AR 263 2,068|MEET dtiEE
214 2,169| % HHET HEER 263 2,068 | i EHT dtiEE
215 2,167| KB =EHE 263 2068|E% 5 =EER
216 2,156/ \ SCHT B 263 2,068 Bl B BT IR
216 2,156 | &5 {iE o R HT i L R 263 2068| =8 FEE
218 2,154 | EHEHT tiEE 263 2,068| B ™ HIFE
219 2,153 | h0EHT =EHE 269 2,062|E HHT =2F8
220 2,150| & 3E HT =EBE 270 2,057|5A B BT Wk g
220 2,150 | B AR K ER XM (I el ERE 270 2,057| K%+t =EE
222 2,145|FE R HT W R 270 2,057 |7k EF AT =58
222 2,145| iK™ IR 273 2,048 |Hi = BT =EEE
222 2,145(88@H TR 274 2,040|fFbh LEE
222 2,145|8)11H FEE 274 2,040 ZHiTH fahf 2
222 2,145 /NF AT HEE 276 2,035\ & ERE
222 2145|388 Iz B2 276 2,035| 5 FE AT =S
222 2,145| Kl + EHT LER 276 2,035[/\FHHT IR
229 2,134 fa] 25 T FRE 276 2035 |cEzm (hFokELEa e TEER
230 2,130| 78 )11 BT W IR 276 2,035| LI Ik B 1R
230 2,130 YR # FT ez B2 1 276 2,035|F B EEE
232 2,116|FFE™ EiRE 276 2,035| %5 FHHT wER
233 2,112|ILUFE/NEFET wae 276 2,035 | EE4ERET BERER
234 2,106|f2&0 L RERAT 284 2,030(EE £ HT =B
235 2,100|EEXEH IR 285 2,024 F Rt dtiEE
235 2,100/ Emh EEER 285 2024\ ETH IR
237 2,095| )11 ET ez B2 1 285 2024|F 11 REEARE
238 2,094 | Z /T FNE 285 2,024| 5 FiEHT =GR
239 2,090 5= EX AT dtiEE 289 2,013|LvEMH =EE
239 2,090| H FHT A8 290 2010[R BT fam 2
239 2,090/ \FEE/KETZEM EHE 291 2,005(=:EH AR
239 2,090 ¥ F7HT =FE
239 2,090\ EFFERKEREM =2F8
239 2,090 | & FRHT EHE
239 2090|552 W
239 2,090 |58 {4 BT WizE
239 2,090| FEH IR
239 2,090| DKIEHA S LT TR
239 2,090| EF)IIKECEM FEE
239 2,090| = BRHET EEER




